Perfect competition assume

Complementary

commodities. Substitute products |Homogenous products |products Necessary goods
which of the following is the No Government
feature of Perfect competiotion |No entry Few sellers Price maker Intervention
The word Monopoly derived
from word. Greek French Indian American
Price discrimination is generally |Perfect Monopolistic
practised under competetion Monopoly competetion Oligopoly
Transfer pricing is regulated by |Government MNC's Private sector |TNC's
which of the following is not a
condition for price transferability of geographical
discrimination political barriers goods distance Ignorance
When a monopolistically
competitive firm's demand curve Nothing, the marginal
shifts leftward, what happens to revenue curve is It shifts
its marginal revenue curve? It disappears. unchanged. shifts leftward. |rightward.

A cartel is a collusive agreement
among a number of firms that is
designed to

expand output and
lower prices but not
to a predatory level.

expand output and
lower prices to a
predatory level.

restrict output
and raise prices.

expand output
and raise prices.

The foundation of which

method lies in the concept of [net present value Internal Rate |Capital
time value of money ? method pay-out period of return Budgeting
F=P(1+r)n Where P= present value prinicipal Planning pay back period
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